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tan X
_[ dx =
COS X
a)tan’x +c  (b)secx +¢ ,c)Injcosx|+c ,d)sec’x +c
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a) h(t) =—19.6t + 4.9t @h(t)=19.6t—4.9t2 b)h(t)=19.6t +4.9t> ,d)h(t) =—19.6t — 4.9t
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a) xInx +¢ ,b) x Inx +x +¢ ,c) Inx —=x +¢ @) X Inx —x +¢
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a) 42 ,b) 13.72m/s ,c) O @) -13.72m/s
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tanx+x+c b)tan’x +x +C ,c) secx +x +Cc ,d) tanx +x2+c
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a) —2cotx +c @ —%coth +c ,c) %coth +C ,d)—%cotx +C
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a) 72 @ 36 C) 18 d) 32 j(g-xZ)dxz
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a) gtan3x+tanx+x+c gtan3x—tanx+x+c c) étan3x—tanx+c d) tan®x —tanx +c
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1+X
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1 1+X
tan‘1x+§ln(1+x2)+c b) Infl-x|+c  ¢) tantx +Inl+x2)+c  d) Inflax|+c
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a) h=2x>-2 b) h=2x2+2 @h=2—2x2 d) h=2+2x2
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